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Problem C – Mirrored Bytes

The Problem

For an eight-bit byte, its mirror is constructed by swapping the nth most significant bit with the nth least significant bit for all bits.  For example, the eight-bit binary representation of the number 46 is 00101110.  The mirror of this bit pattern is 01110100, or 116.

Input / Output Specification

The first line of the input is an integer that specifies the number of test cases that follow.  Each test case consists of a single line containing one integer in the range 0 to 255.  For each test case integer in the input, output its mirror on a single line.

Sample Input

3
46
0
224

Sample Output

116
0
7
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